Basic Electrical Engineering
First Semester B.E. Degree

Model Question Paper
SUB CODE: 06 ELE 15/25
Time: 3 hrs Max. Marks:100
Note: 1. Answer any FIVE full question selecting atleast TWO questions from each

Part
2. Answer all objective types questions only in first and second writing pages.
3. Objective types questions should not be repeated.

PART - A > \,

1. a) 1) The current in a circuit having constant resistance is doubled. Th ‘aver consumed.b
resistance increases by times.
A% B)4 C)% D)2
i1) A voltage drop of 10V develops across a 1KQ resis
resistance is

A) 1000W  B) 100W C) 1w D)0.1
iii) At/m is unit of .
A) mmf B) reluctance C) magnetizing force

iv) Inductance opposes in currentn esguit
A)increase  B) decrease () change

The total power consumed by circuit is 1200W~The ap

¢) State and explain Faraday’s laws o e’l?!tromag tic in
d) A coil of 300 turns wound.on o magnetic

Calculate, (i) Flux produced by a‘eurrent of 1) The aw€rage value of emf induced when

current is reversed in 8ms V4 \) 4M)

2. a) 1) The ac voltage is V = 20sin
A) 50Hz B) 7
age value of its half wave is
D) 100V
y is gonsumed in

=100, X;=10Q. The phase angle between V and I is

) 60° D) 36.8° (Im x 4)
is VI cos ¢ for a RL series circuit energized by 1¢ ac
8M)

M)



3.a)1) In, 3¢ system power equation V3 VIcos d, ¢ is the angle between

A) line voltage and line current. B) line voltage and phase current
C) phase voltage and line current D) phase voltage and phase current.

i1) The algebraic sum of instantaneous phase voltages in a 3¢ balanced sy$tem 1

A)O B) line Voltage C) phase voltage D) none of these

ii1) A 3¢ equipment has a size that of a 1¢ equipment for
capacity.

A) bigger than B) same as C) smaller than D) none of these

readings are W; & W then,
A) W, >W, B)W1<W2 C)W1=W2 D)W1

b) Prove that 2 wattmeters are sufficient to measure 3¢ powers
diagram. \

c) A star connected load has impedance of (6+)8)Q2 per_phasc: supply o
is applied to load. Two wattmeters are N wer consumed. Find

readings of 2 wattmeters.
4.a)1) Afuseisa
A) protective device
C) voltage limiting device

A) current coil B) potential coi i ial coil D) none of these

A) brake magnet 4 C);nhunﬁmagnet D) series magnet
iv) A good earthing should provide resistance in earthing path
A) low B) high  C)amediu (Im x 4)
b) Explain necessity of eartht Nﬂ ate earthing with neat diagram @M
c¢) Explain with a neat diagram worki jon type energy meter. 8M)

5. a) 1) Armatugeofa D Lohine 1
A)eddy c% ) hysjerisis loss C) copper loss D) friction loss
i1) Hi tage generators winding
W e Q) lap or wave D) none of these
uld never be started on no load.
e current at starting due to
B) low back emf  C) flux low in shunt field d) none of these

(1Im x 4)
b) Derive the exffression for induced emf in a dc generator 6 M)

c) A 250V, DC shunt motor takes 6A line current on no load & runs at 1000rpm. The
resistance of the field winding and armature are 2502, 0.2Q respectively. If the full load
line current is 26A, calculate the full load speed. aom



6) a) 1) The primary and secondary of a transformer are coupled
A) electrically B) magnetically C) electrically & magnetically D) none of these

i1) The voltage per turn of primary of a transformer is the voltage per turn of
secondary
A) greater than B) less than C) equal to D) none of these

ii1) When load on a transformer is reduced decreases
A) eddy current loss B) hysterisis loss  C) copper loss D) friction |
iv) The no load ratio of 50Hz, 1¢ transformer is 6000/250V. If the max fluxiin
core = 0.00563 Weber, the number of turns Njon LV side is
A)450 B)900 C)350 D)200
b) Explain working principle of transformer. Derive expression for ind
Secondary.

7) a) 1) In a 3¢ Induction motor, motor speed is
A) greater than B) less than
i1) 3¢ wound rotor motors are also called as
A) synchronous B) slipring
ii1) The Induction motor has lagging pf at
A) starting only B) operation only
iv) Rotor of an Induction motor revolves in

iii) A non salie
A) low speed

rotor.

(Im x 4)

(6 M)
f salient pole alternator 6M)
connected alternator has armature turns per phase = 120. The
=0.97. Find Er, “4M




